o p/p.)

01072 et
?U’ 1} "¢'-§o¢-<>'.<; """"""""""""""""""""
D: 0.9:"""""": """ ‘; """"""""""""""
oafb g o
0'170-‘1 1 10 0 10°
TP, (PCA t%) beamline)O

=10™ =
g 2
= 8
o °
5 5107
1072 [y
107
-3 L .......i A Y .......i L -3
010 1 T T e P A T TT T 210 1
5 | 1 5 5
0.8fH------ LERETY PEN § P PP PEPE P PPEPERPEPES 0.8t
i +1 i
0.6fH---------- i b4 O REEPPEPREPRE O EREEEE 0.6
1 N - 1
107 1 1 2 . 10° 107
0 TP |oO (PCA t%obeamllnef) 0
T
—=— DQM_CKF_50MtQCD
—e— DQM_mkFit_SoftQCD-updated
—— DOM_mKkFit_SoftQCD-DNNsgcd100
—— DOM_mkFit_SoftQCD-DNNalliters
= 1= —
= : €
2 =
> 3
2 =2
5 ©
107}
107
S 1 S  IF
© © i
4 4
0.8
0.5
0.6
10 10




	Contents
	Page 1


